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��K�&=��;DE��(Triploidy)�+������ ���� �X�:��������������$+�����.��0���������=���+��,`=�+�������

a����������������0�23�%0��-���2/3��.�����9�a��������������������������&�+��9�(Copies)�����(���=�����9�$����

�����&�+��I�'&�=�(*��23���.��64�.��0��9�����'$&�������0��(�kj$�����9� ������$�� �DE&=���;DE��(Induced

Triploidy)�%���+���.+�����?��� :�+���2/34� (��;0��=�0��9� �S���&����������'$&�������%�/��� ���)������

:����$���(�ij�������9����6�:�6�a������������9�����:������������(Ploidy)���+���:��;���=��?���������$�&��@

2/3Q���+���:�� ����$����9�0+��&����GH&������&��=����0��=���?��@�8���_��:�����
/��5�������&5'���
��	�������9

&�23=���(��������+���:�+���2/34

�S���&����������=�����9���9�������$����K�&=��;DE�������$�������9���9����������$���2<3Q�&�23=���������+������

$��������2/3��.������9�����=�����9�����%)DE�9���9����;������=��������B (Cytochalasin B (CB) / 6

- Dimethylaminopurine (6-DMAP) ������+���:������$���2�36� ���+���.��$���2/34���������

8�����������2/3�.�23�I� ���!�������(fertilization)�����$���)�$�� (����� $��&��+���'�������(������ ��^��$�

(shock)�����%)DE�9�����%*������X���	�0� ��.����(meotic division)����*+�����+���.��$���2/34

;�����^��$��'&�����������(��������X�����0� ��.����(meosis)���23.��23���.��$���2/34�;���'&������

����J�=��0�GH&��'&����������6�%)D�E�%:�����$��(haploid)������-�����&�����S�:�����$��(diploid)

23���.��$���2<34�;���%)D�E�����6���%:�����$��8��a������(sperm)��������!�������23������&�����X�:�����$�

+��:�����.��(triploid zygot)�����.������23��$���2/34

'&�+���_���������9�������+�������%�/���8�����������$�������9��������_��8��,`$����������
&5'���
��	��������

�X�:�����$��&���kj+��9������0�����������=�6����+���:�6�&����C����	�������C���������0�8�����0�0������%�:��

;
���������������&'���	
���	
������3U4"-��/&'

6��Q�����V
�	
��1�"��#���
"�������� ��������� ��>� � +�������� ����� ��--�>���
�������+��������������,$�+�����%�����)*�������)�-���������������
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���$��$��2/34

������� ��>� � ������

&����C����-��� 0�+��������_���8���_�+��9�Z��������&5'���
��?	����\�����

����7��$������)�$����9�%�/�������6���6J��%����%�;����������[������������

�������_���8���_��?��$��9�������)R�23������+��4�;����9�210C�$��&���������9

&�=���������(�����$��&��%��������330C���9�(�kj�$���2�36�������$��%)DE.�����

(induced spawning)������+���:�+��4�%)DE.������8��GH�23��$���2�36

23����$+�����.��0�������O

�����=���&������*�����$��0��=��� ��$+������K��

(tray)� �.�����9� ��������� .�=�� �J�=�������� ���� ����0�*��� 2/3�� &��=����

=�:��4���$+������K�������%)DE�������������(��������=���%)DE�9������AB�������

'���%)DE�9������8��a�����%�9��������=��0�������+���Z;������%���&��$���


����=���%)DE����������=���8��a�����\�$�������7��X�������!����������*+��23��

.��64

��0�� ���!�����$��%)DE�9� ��9� ������$�� �X�:�����$�� �������� (triploid

induced agents)�.�/����CB, 6-DMAP�%�/�����^��$��'&������

���� ��+�� �:�� ���+��4� 6-DMAP� ���� '&����� �� a���� �v

�

�µM; CB�����'&�������0.05 mgl-1�dv���������^��$��'&������

50C, 10'Q�$��&����^��$��'&�������350C, 5'�-��4�+����������'&������

���!�������23�������]v�����(��������6�:�6�`+��9��������!�����$��%)DE�9���9

����50%����� ���!�����������(����������
����������9���9�23��290C���9

&���=����� (���DE���� (Polar bodies)� ���� �������� 8��GH� ���+��� -��4

���!�����$��%)DE�9�������
�µ�AB�����������AB��������'&�+���_��'&������

���+���:�+���-��4

'&�+���_��'&�����������(��������$��=������O
�NDE ��������������$��0��=��

��������.�=�� ����� &=��,��������(��9� ��9� �������+�� $��&������� ��9� &��=����

=�:��4�NDE ����9���9�'&�����������2�36��� ��0������%���0��C�������$�����2934

&���DE0���=�:���� (Pedivelliger) %0��-��� $���� ;��� NDE ����9� ����

%�;����a��;������:��=�(�����������?�=��6Q�;������(�����������2���6�����

%�/��������������������������	���5�������������T��������NDE ����%0��-������

�&�����(spat)�%0��-�����9�?��@����;��#����AB�����������AB�������

%�/���;������(�������
���AB�����������AB�����������+��4���$+�������������

������&������&������(���=�����+��4�&�23=�������������%�/���&��I��0�9����0����9�&���

NDE ����+��������$������?���=�+���%�/���0�/����%�$�.���0�$�������%��������

 ������+���:�+��4

%==�����%�����Z�#�#\�S������a����������������)����.��I����������=�6

�0���7�$������$����9�-���DE��2�3��	J������������� &�23=��� ���0����%�/������/-��

���0��������DE�����.��NDE ����9���9�������K�&=��;DE�NDE ����9��������$�8�$�$��

���*������$�����+��4

"��� 2����� ��>� � 8�8��0

%�+��������C����9�S��������K�&=��;DE������=�6�%���+���.+��(�$��+���:�;�

'&�������a����+��������� 6-DMAP�����������$���d

���M %�/��


Y�
����Y�R��P�=���CB�������+���:������)�� ����������C����9�����=�6

�0�������� ���+��� :�+��4� &���� +�23�'&�������%)DE�9�����=�6�%���+���.+�

��23f�-��4�(��(�����%����������##����9����&����������-��������X�:�����$�

'$&������� ����=�6� =�)(��� ����+�� $���� ����CB� '&�������%���+���.+�

���?�����&���� ���+�23���7$+��$���(�kj�$���2/34�;���=�6����6�:�6�&����C���

��9�������$���d

���M ���������������

���MDMAP 8' %�/��

CB 0.05 mgl-1 3'���������+���.����������K�&=��;DE������=�6�%���+���.+�

���?���:�+��4

����=�����9� ��9� ��K�&=��;DE������ �0�����������=�6� ���6�.�����0��=��

������$�� 8����������� %�/��� ������+������� '&�������9� ���� ��C�$��� ��)(�*��

���������0�0������$���=���������9����+���:�+���2/34

���X�������S�:�����$��%�/����X�:�����$��?��@�8��,`$�
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1"�8��� �3U4"-��/&'�� % ��!��������%

W&'��	
 D �������

6 DMAP 100 ��M 66.0 61.82 17.00

����� 50C 42.25 33.33 16.08

$��&� 370C 40.92 39.13 13.20

CB (0.05 mg/l) 41.81 40.0 14.37

�)��K���=�� 0 0 10.20

'&�+���_����������9�����0+�_��23��$���2/3� ����6-DMAP�'&�������

�X�:�����$�� t�����9� ���� �0������� ����=�6� %������=�� '&������� 2/34� ;=�

'&������� ��9� NDE ���� %�/���D� %0��-��� ���� t����� ���� ���$�8�$�$��

+�-��a����

Y

�%�/���
�Y���2/3�.�(�����CB�'&���������9�+�23

+�-��a����"�Y��%�%�/���"
%�2/34�$��&��'&���������9�NDE ����%�/��

D�%0��-���t������������$�8�$�$���+�-��a����"
Y#�%�/���d#Y��2/3

$����������'&���������9�+�-��a����"�Y��%�/���ddYd�2/34���7$+��$���&������

��(����������$��&��'&���������9��dY�%�����6-DMAP���9��]%�

��(������'�������?���:�+��4

'&�+���_����)(�)*����������9�����6-DMAP�'&���������(�����'&�.����

���?�����&���� ���0�����.+����'$&�����������=�6�$��&��'&�������%&�������

'���$��23��:���`+��9����&�23=�����9�'&�+����:�$���0�8��!��������+�������%�/��

;��������+���:�	���*����$��=����$�����s�,!�������?���r=���2/34��S���&�����+��9

�����X�R�����������=�6�$��&��'&�������������+���:�����6�,`0�=�����%�/��

&����=���Z�#�
\�:�����N=�:��%�/������/23����Z�#�#\��������&$��&���������

 ���;���&����C������9����=���&����������9�������������2/34�;���������0���$��&�

'&���������9�������+�������'&�����������$��=�������9���7$+��$��������2/34�+�23

 ������?���:�+��������S�:�����$��t�����9�����%&��C����X��:�����$��t�����9����

&��=������J�=��2/3��.��������0�&������+���:+��%�������$����&��=�����������

%�AB������������������$���2/34

�������(��$��9���������?�$���2�36�6-DMAP �X�:�����������$�������

��(�����%���+���.+�� ������� .��$��� 2/34� 6-DMAP '&������� ���� ����

	��2�?��������X�:�����$��9�������J�=���0����������+���:�+���2/3�Z�����������+����

%������##d\4�+�@�&��$��&����^��$�������X�:�����$��9������0�������23��$��

2/3�$�-���&��8�������������^��$��23���8���0��)AB���+����23f�2/3�Z���=���

�\4

CB ���� $��=����� ��9�  ��� 6-DMAP ����� ��)����R��$�� 2/34� 6-

DMAP ��9������+����������+���:��t�������9����J���6���(�����23��$���2/

�.������������0��?�&�$��(������0��=���;�������=�����9���9�������+�������%)8�

�����23������������) ��0�����2/34�290C $��&���������9��

���M ���

��+���:�����*+��23������������������;������'&�����������=�6���+���:�8��=��

����%�0�8+���$��� �����23f�'LM$��4�0��$��$���a������,���%�����&5'���
��	����

������K�&=��;DE��'$&���������9�6-DMAP $���������������J�����8�����+��

.�������$���2/34

���X�������0��0�*��'&�������9���9�%�$�.���0�$�$���	�$��=����$����

%0�=�������

I �#�����

II �#�����

V �#�����


